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1. significance level 

2. ~¥-it(standard error) 

3. a error 

4. 95% confidence interval 

5. power 

~..::.*~ r.,,~~ (70%) 

~~BW3: 0224 · fr];:?;:: 2 

1. l0~!1f~tt-lt•11Jli~.nu_,~J~~~~~/tf'J' J:J-}t-0~ J\.L~"J"~:tt~' Jt.'f1f 500 ~1ft:f::l~1'Fl"' 
~~ ~ 1r 40 ~ i. ~ ·ti , =t~ JPt Jt. 'f 1 o 1.n. , J7 JPt 1 o 1.n. ~.t1f • ilJJi ~':ta!J ~ :f _L 1'F A. J\ , l! 1t .nu. 11(. t~ ~ ~ 

~·ffl~~~~M*&····~----~T05~: 

~~~.LMH.t ki?(.i~~ -~~-~ .iE. ~ ~ ~1 ::it MHt ki?(. i~ ~ • ~·· 

1 ~·ti 1f 1 !lt·ti !ft. 

2 ft·ti !ft. 2 !lt·ti !ft. 

3 Ft·ti 1f 3 ft·ti !ft. 

4 ~·ti !ft. 4 ~·ti 1f 

5 ft·ti !ft. 5 ft·ti !ft. 

6 ~·ti 1f 6 ft·ti !ft. 

7 Ft·ti !ft. 7 f.t·ti !ft. 

8 f.t·t1. !ft. 8 ft·ti 1f 

9 f.t·ti !ft. 9 f.t·ti !ft. 

10 ~·ti 1f 10 ~·ti !ft. 

(1) ttr", 500 ~ ~~~.Lki?(.i~~~·ti~~1t4l~ ~ Y? (5 ~) 
~)~~~~o~-~~.L-10~.iE.#~~*.nu.l1(.~~~~4l~~¥-1f#t.~~-A·ffl~lt~~~~~ 

i(.lfi~'t ?(5 ~) 

~)~~~5oo~tt~~.L-IO~.iE.#~~*.nu.t1(.~~~~4l~~¥-1f#t.~~-A·m~lt~~~~~ 

i(.lfi~'t ?(5 ~) 

~~*•~~~1f~-~~~·•~•~~~.L~&•••~~~-~~~~~Y?a•m~lt~~ 
~~·%~? (10 7}) 
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2. ~¥-7E.FI-Jlt~IZ5J-f-1f age' blood pressure, cigarette smoking t- • ~,l;Jf-J'E1.fJ-Arit.f.l(25 )1-): 

Multiple logistic-regression model relating 2-year incidence of sudden death in females without prior coronary 

heart disease to several risk factors. 

Risk factor Coefficient, pi 

Constant -15.3 

Systolic blood pressure (mm Hg) 0.0019 

Framingham relative weight(%) -0.0060 

Cholesterol {mg/100 mL) 0.0056 

Glucose (mg/100 mL) 0.0066 

Cigarette smoking (cigarettes/day) 0.0069 

Vital capacity (centiliters) -0.0098 

{1) ~- M -15.3 ~u1iif fW-*f( ~;fz 1+ Jf ;f; .$) ? (10 )/-) 

(2) ~tr", o.oo6o~MM-*f{1\;fz1tJt;t.$)? -~-~~k~:1f#ttt:t~ • J.tffl1iif{t~Jt ?(lo )1-) 

(3) a r", -~-~~Cigarette smoking k ~ ;1f ~fttt ;f; ~ • J.t ffl one-tailed~ two-tailed~ ;t • ~1t Jf? (5 )/-) 

3. ~ttt 8o ~ trr 1'i!ii .t ;:N-1];\J ~ 11!!.11', i±. ·il #j -m , 1t F~-J -tdd~ ·~ m , ,~-t * ~tJ r : o o )/- ; ~ s )/-) 
·Jl#j#J" 

·fl#j{! 1f .fdl :if. $ift, .fdl :if. ~dil-!-f .~~o 

~ .fdl:lf. 36 13 49 

$ift, -tlh :if. 14 17 31 

~~""t ~·-,.,::,; a 50 30 80 

(1) ~- r.,, At $ift, 1~ "t~( null hypothesis) aft JI.1~ "t~( alternative hypothesis)~ 1iiJ ? 

{2) • r.,, f§ ft Jt~·t±~1;;y? 


